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}%Eﬁ 0 0 0 0 0 0 1Bh=1.0 c=4
------------------------------------------------------------------- t=15

! 0 0 0 0 0 Oty /2 -] J*;zﬁg/g
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X TR rHE
Wt ) RO R () g x g Cem) =) FRETT L Ctm)
Floor High (m) Weight(t) Height(m) WxH (tm) Force (t) Overturn(tm)

R 1.49 146.30 5.90 863.17 23.10 136.29
2 2.70 161.70 3.20 517.44 13.85 44 .32
1 3.20 308.00 0.00 1380.61 0.00 180.61

X T A
M SABE T T DR DT MR S
Floor Hight Force Sum.force Sum.D 1d force S.Disp(m) F.Disp(m) 0/00
2 2.70  23.10 23.10  2.90  7.9655 0.0246 0.0089 3.284
1 3.20  13.85 36.95  3.94  9.3782 0.0157 0.0157 4.918

~T42MCDOW1Z1L10XON110;
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Y R TR HE
Wt ) RO R () g x g Cem) =) FRETT L Ctm)
Floor High (m) Weight(t) Height(m) WxH (tm) Force (t) Overturn(tm)

R 1.49 146.30 5.90 863.17 23.10 136.29
2 2.70 161.70 3.20 517.44 13.85 44 .32
1 3.20 308.00 0.00 1380.61 0.00 180.61

YT A
M SABE T T DR DT MR S
Floor Hight Force Sum.force Sum.D 1d force S.Disp(m) F.Disp(m) 0/00
2 2.70  23.10 23.10 2.83 8.1625 0.0226 0.0091 3.366
1 3.20  13.85 36.95 5.19  7.1195 0.0135 0.0135 4.224

~T42MCDOW1Z1L10XON110;



T (= 2 T

K.Y AT T s T

X fTW?WPHH-O%L‘ﬁ@B%ﬁﬂ

e FeG)  ME0)
Floor G-center D-center

2 4.4000 0.0000

1 4.4000 0.0000

j=G-D

E=G-D
4.4000
4.4000

Y AT RS 4o 0.05L ~ iRy RS

e FeG)  ME0)
Floor G-center D-center

2 7.8500 0.0000

1 7.8500 0.0000

XY 2 o2 i ST
Ak

j=G-D

E=G-D
7.8500
7.8500

0.05L E+=E+.05L E-=E-.05L
4.8400
4.8400

0.4400
0.4400

0.05L E+=E+.05L E-=E-.05L
8.7250
8.7250

0.8750
0.8750

R (X+) B (X-) ke (Y+) AR (Y-)

Floor Alpha(X+) Alpha(X-) Alpha(Y+) Alpha(Y-)

2 0.000
1 0.000

0.000
0.000

0.000
0.000

0.000
0.000

Page.

/WIS/970611/H61
TEHEH

Inertia

3.9600 0.0000
3.9600 0.0000
TEHEH

Inertia

6.9750 0.0000
6.9750 0.0000
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&y f% &
SORTRE (R T oy = 2800kg/em2 R AIUUESE®E F e = 210kg/ cm2
RSS = 1Sen [EEi= 0.40Um2  FEEREI= 0.500/m2 QNRDS S 2 M5
=3I Z[=S.0m m =0.740 (ACT Method 2 “5) (Pﬁ%? 0.00)
B e L T = [ <------ R T - |

U2, %A L e TEE R R T |
UL FRIEECC | 0.068 1 0.051 0.051 1 0.034 | 0.049 1 0.037 0.037 | 0.025 |

Mu tm/m | 1.317 | 0.988 | 0.659 || 0.946 | 0.714 | 0.483 |
As cem2/m| 4.725 | 3.508 I 2.316 || 3.354 | 3.354 | 3.354|
fi=] He | #4e1s | #4@15 | #4015 || #4@15 | #4@15 | #4015 |

Nk #4e15 | #4@15 | #4015 || #4@15 | #4@15 | #4015 |

ST RES  F y= 2800ke/om2  JREES RIURIEG F ' c= 210kg/cm2
R-281 P%i= 15em {@#Ei= 0.400/m2  iEHE= 0.35t/m2 ON=2S 5 2 Mg
A3 T RAES.0m m =0.740 (ACT Method 2 “3p4%) (Pfﬁ%r 0.00)
R T B (L =[] - S - |
SO < I O R L S 7 B [N (O W 17
UL REIFECC | 0,068 10.051 0.051 1 0.034 || 0.049 1 0.037 0.037 | 0.025 |

Mu tm/m | 1.079 | 0.809 | 0.540 || 0.775 | 0.585 | 0.395|

As cm2/m| 3.842 | 2.858 I 1.891 || 2.733 | 2.733 1 2.733

fi=] He | #4e1s | #4@15 | #4015 || #4@20 | #4@20 | #4020 |
Nk #4e15 | #4@15 | #4015 || #4@20 | #4@20 | #4020 |

ST AL Foy= 2800kg/em2  EES FIURESEE B o= 210kg/om2
R-252 9= 1Sem [EEiEI= 0.40Um2  FAEIEI= 0.35Um2 ON=2S S 2 M
HR=2.8m  =[=5.8m  m =0.500 (ACI Method 2 5f5) (ﬁﬁ%?‘ 0.00)
R T B (L =[] - S - |
SR A A B O S N
~ULREETEC | 0.089 | 0.066 0.066 | 0.044 || 0.049 1 0.037 0.037 | 0.025 |

Mu tm/m | 0.803 | 0.602 | 0.401 || 0.444 | 0.335 | 0.226 |
As cm2/m| 2.834 | 2,113 1 1.401 || 1.550 | 1.550 | 1.550 |
fi=] He | #4e18 | #4@18 | #4018 || #4@20 | #4@20 | #4020 |

Nt #4018 | #4@18 | #4018 || #4@20 | #4@20 | #4020 |

S R F oy = 2800kg/em2 Rt AINGUVEETE F e = 210kg/ cm2



R-2CS A'EI= 15cem ﬁﬁﬁﬁifj: 0.40t/m2 fﬁﬂ;}j: 0.35t/m2  (N=54 REHF 2 Mg
Hp=l5m =X=2.3m m =0.652 (ACT Method 2 S5f5) (ﬁﬁ%?t 0.00)
B e I (RS el Rt e adl
SRR I L S B A B (O S B i
~UL R EEEC | 0.075 1 0.057 0.057 1 0.038 || 0.049 | 0.037 0.037 | 0.025 |

Mu tm/m | 0.19 | 0.147 1 0.098 || 0.127 | 0.096 | 0.065 |

As cem2/m| 0.679 | 0.509 | 0.339 || 0.441 | 0.441 | 0.441 |

fi=] He | #4e1s | #4@15 | #4015 || #4@20 | #4@20 | #4020 |
I I

| o#4e15 | #4015 #4015 | #4020 | #4620 #4620 |
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